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: 1,25 − 2,3 =

� 3,2 � 4,2 � 5,2 �
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� 240 � 270 � 280 � 290

• (x, y)
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x + 5y = 6
4x + y = 5

� x + y = 2 � x2 + y2 = 0 � xy = 10 �

• x2 − 8x − 9 = 0

� −9 � −1 � 9 � 1

•
� 1024 � 1124 � 1240 � 2400
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• x − 3

5
= 2

� 2 � 3 � 10 � 13

• x1 x2 x2−12x+20 = 0 x1+x2+
1

2
x1x2 =

� −2 � 10 � 12 � 22

• y = x2−1 x ∈ [−2; 4]

� 0 � −2 � 15 � 3

•
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x − 5 ≤ 0
4x − 7 ≤ 0
x ≥ 0

� [0;
7

4
] � [0; 5] � [0; +∞) � [

7

4
; 5]

• y = 2x + 3

� A(0; 3) � B(2; 3) � C(3; 0) � D(3; 2)

• x + |x| = 6

� −3 � 3 � −3 3 � −6 6

• m x2+3x+m = 0

� m = 3 � m = 4 � m = 5 �

• q x2−10x+q = 0

� q = 25 � q = 10 � q = −10 � q = −25

• x2 − 5x + 4 > 0

� (1; 4) � (−∞; 1) ∪ (4; +∞)

� [1; 4] � (−∞; 1] ∪ [4; +∞)

• √
x + 2 ≤ 5

� x ∈ (−∞; 23] � x ∈ [−2; 5] � x ∈ [−2; +∞) � x ∈ [−2; 23]

• 5x+1 = 25−1

� −4 � −3 � −2 � −1

• log3 81 =

� 2 � 3 � 4 � 5
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• a3 a1, a2, a3, a4, a5

a1 = 4 a5 = 16

� 6 � 10 � 13 � 15

• sin 34◦ cos 34◦

�
1

2
sin 68◦ �

1

2
cos 68◦ � 2 cos 68◦ � 2 sin 68◦

• sin 390◦ =

� −1
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• lg(x − 4) ≤ 2

� 4 ≤ x ≤ 104 � 4 < x ≤ 104 � 4 ≤ x < 104 � 0 < x < 104

• sin(6π − x)

� − cos x � sin x � cos x � − sin x

•

�
24

169
� 5 �

169

24
� 12

•

� 15 � 12 � 10 � 6

• ABCD AB‖CD MN M ∈ AD N ∈ BC

AB = 5CD MNCD

ABCD
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• A k O

AT T k AO = 10 AT =

� 6 � 8 � 12 � 16

• �ABC AC = 5, BC = 2, <ABC = 30◦

sin <BAC

� 0,2 � 0,4 � 0,6 �

•
� 1355 � 530 � 300 � 270
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•
� 29 � 30 � 32 � 37
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